CEM 03

41.3. The General curl- curl - Equah‘on
as a Centrul Model Problem in EM

2 Led 2 c R be a bounded Lip~domain
with the boundagy M=o =Nuvly Gl =g
Find u= (uquy,4) ¢ & —> €% or RI:

curl (v curl(u))+22u=§ in 2
(’!8) +BC: uxn =9, on [[=Tg,
veurlu x n =g, on I, =0y

where u=A or E and

=0 - for the maﬁndvsh:l-{c problew [151,
Coulomb 3«&31 (44) divu =0,
R''o 2¢=d Emal) - for the regularizaton;

Imoateiwd - for the conduckivily regularidion,
R3 2= %‘_-pg ~ for the implicit fime disereli2ahon

of (3) or MD)E y T=time slep h
€ 2 %= —Eb)z-fi.h)G' -for the Lime - hasmoni'c Maxwell ofus ;
lR: ? 2= % - for an cmplict time dixeretizahion

of the eddy~curvent problem (1)
Tm 3 % 3 (8§ ~ for the Lime-harmenic ECP (41),
R* 3 2e= €T —for the impl. Lime discr. of the wive cuse;
R > 9; = —gwh= for the ‘u‘ah-fra?uenc& fime-harn, case

dn genefal: 3e = 88(X) | x=(xq X,k )eR

V= % i V() OR w;-v(x. | curltl)

Lincat Case nen-Llinear




